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J.10 II. ANDOYER.
AV A AL 162 (2 4 80)* + 882 (22 + £0)°
— 2896 p* (21 + £0)* — 1600 % (211 + ) _
P (2p 4 £0)(— 96 4+ 24m?) + pP (2 4 g0) (192 — 48 m?)]
= 0900 [— hp2 (hp— 80) — G4 2 (b — g0)°
—164pt (Ap — go)* —112p® (41r — o)
(G — 80)* (24 — 6m2) + P (G — g0) (— 96 + 24 m*)]
+ QA AR (e + £0) + 8417 (4 4 £0)?
H164pt (hp+g0)* +1r2pP (Gp + £0)
(A ) (= 24+ 6mt) = (G 4+ g0) (96 — 24 m*)]
(M)A, [— 384 p2 g2 '
+ (A9 PAPL, [96pP (22 — g0)* — 1922 (2t — £0)]
+ (100200 [—961° (211 + £0)* + 19224 (2.1 + 80)]
+ (M) [— 9bpt g2 ]

+m L [ (G — &)+ (i — 80) (— 9+ Hm) +18 — 45m]
A+ m R U G+ 80+ (G4 g0) (9 — Hm) — 18 + 4P m]
+ m* AL, [— Lot — 34ap2+ pu(— 288 +gom) + 144 —gom]
A mA AR [ (2 — 80) =18 (2 — &) + LA

+ (2 —g0) (36 —*2m) + p(72 —22m) — 52 + 43m |
4+ m R A [— AT (2 g0) 18 (o + gy) — L

(2 +20) (— 36 +5m) 4+ p(—72+ Em)+72 —43m]

+ mP (AR [ g3 + 198 2 + (376 — 180m) — 288 +180m]
+m R[5 (2 — go)’ + (20 — $0)* (— P +3Tm)
+ (2 — &) (—33 +27m —32m?) + 32 —18m + 332 m? — 3 m* ]

+ A [— 2 (2 + £0)3 + (2 + g0) (42 — 2l m)

+(2p+80) (33 —27m + Em?) — 32 +18m — P m?+ i mt
A+ AR [ p2 gt 4+ ngd (6o — a7 m) + 84 ud
+ go(— 30+ 27m) + p2(—120 +108m)
+ p(— 264 + 216m — 66m?) + 66 — 7am + 33 m?— L mt
AL [— (g — g0) — 222 (. — 20)* — 1683 (20 )
22— g0) (2 — £0)* (— Bo 4 27 m)
+ P2 — go) (240 —108m) — 336 3
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+ (2p— &o)2 (15 — Fm)
+p(2p— go) (396 — 216 m + 33 m?) + p*(240 — 216 m)
+ (2 — go) (— 66 + 54m — 22m?)+ p (264 — 216m + 66m*)
— 33+ 36m — 33im?4 23imt]
4+ m2 AR [Bp (o 4 g0)° + 2222 (2 1+ §0)* -+ 168 (2 + £0)
— 3 (2p+ &)+ p(2p + £0)* (60 —27m)
+ p2(2p + go) (— 240 +108m) + 3363
4 (2p 4+ &) (— 15 + Em)
+ p(2p—+ o) (— 396 + 216 m — 33m?) + p*(— 240 + 216m)
4+ (212 + o) (66 — Bhm + 32 m?) + p(— 264 + 216m — 66m?)
+ 33— 36m + 32m?— 2P mt]
+ m2 R0 ML [ (A — g0)* + S (G — §0)* 2107 (dpe — o)
+ 23 (G — go) + (b — &) (— 30 -+ 3tm)
-+ p*(4p— &o) (60 — 27 m) — fap?
(b — go)H(—15 + 3 m)
+ p(bp— &0) (— 198 + 108 m — 33 m?) + p2(— 60 +- 4m)
—|—([;pugo)(—66+54m——3—2ime)—|—;L(132—108m+33172'3)
+ 33 —36m -+ 2m?2— Timt]
+ m2 R 0 [— (b &) — 2 (4 8o — 21 pP (A + 80)
— 21(4p+ 0) + (b £0)* (30 — &Tm)
+ (4 + Zo) (— 60 +27m) 4+ fop?
+ (b 80)* (15 —3tm)
+ (4 + o) (198 —108m + 3 m?) + p? (60 — S4m)
+ (b =+ o) (66 — Bhm + 32m?) + p(— 132 +108m — 33m?)
— 33 4+ 36m —3Em*+ HEmi]
- m2 AP A0, [1350p2 g5+ 5232 pf 4+ pg 2(120 — 54m) + p3(216 + 432m)
+ g2(— 60 + 54m) + p2(— 4368 + 2808 m — 264 m?)
+ p(— 528 + 432m — 132m?) 4132 — 144m + 66 m* — H2 mt]
= m2 (M), [ p(ap — &) — 201 p2 (2 — &)* + 1027 (20 — o) — 474 1!
— 2 (2p— &)+ p (212 — 80)* (60 —27m)
+ (2 — &) (— 756 + 270m) -+ p? (324 — 108m)
+ (2 — &) (15 —F'm)
4+ p(2p— o) (— 396 + 216 m — 33m?)
-+ p2 (1308 — 756 m + ggm?)
+ (2pr—go) (198 —162m + 3P m?) 4 p.(— 264 -+ 216m — 66 m?)
— 33 +36m—32m?+ 2im*]
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AL AV AL [16p2 (G — g0)* + 88 (4 — £0)°
— 2896 p* (4 — &0)2 — 160005 (4t — 80)
+ 24— 80)2(— 96 +24m?) + P (hp— &) (192 — 48m?)]
S RPN, T4 (61 — g0) + G413 (61 — £0)°
+164p4 (6p — g0)* +112p° (62 — 80)
+ P2 (6 — o) (— 24 + 6m*) + p? (6p. — g,) (96 — 24m*)]
-+ (A0)*[96p° g5 — 1920 &0 ]
- (AP, AR, [— 384 (2 — g0)*]
+ (A0 AL [— 960 (4 — £0)*+192p* (G pr — &0)]
+ ()AL [—96pt (212 — £0)*]
= mAA) [T (2 + £0)2 (2 + 80) (— 9 +4pm) +18 — HEm]
- mONEL, [4 (612 — g0)'+ (6 — g0) (9 — Him) — 18 + 2m]
=m0, [ — 18 g+ 1 P+ 50 (36 — Em) 4+ (72 — AEm) — 72 + 45 m]
A+ mA A A [— L (2 — go)2— 342 p2 + p(— 288 + gom) + 144 — gom ]
+ m A AL [ A (G — &)+ 18p (b — &) — P2
+ (hp—g0) (=36 +42m) + p(—72 + 5 m) +72 — 45m]
+ mt (A2 [ (2 — g0)* 4+ 198 2+ (576 —180m ) — 288 +180m ]
+ m [ gi 4 g0 (= 45 m)
+ go(— 33 +27m —32m?) + 33 —18m + FEm?— Him']
2 [— 3G — go P+ (b — g0)? (35 — 3m)
+ (bpr—g0) (33 —27ym +33m?) — 33 4+ 18m — 33 m2 4 33 m*]
+ mAA0 [— Ap gt — 2222 g — 1683 g,
+5gh + g (— 60+ 27m) ++ p?go (240 —108m) — 336°
+ &3(15 — 3m) + . g,(396 — 216m + 33 m?) + p? (240 — 216m)
+ So(— 66 + 54m — 332 m?) + p(264 — 216 m + 66m?)
— 33+ 36m — 2Eim*+4 ZEmt]
+ 2 AR AL [rrrp?(2p — o)+ p(2p — g0)* (60 — 27 m) + 84 p?
+ (2 — g0)2(— 30 +27m)~+ p2(—r120 + 108 M)
+ p(— 264 + 216 m — 66m?) + 66 — y2m + 33m? — 242 mt]
+mAA AL [ (2 + g0+ B pP (2 + &0) 213 (20 + £0)
3 (ap -k g0) - p(2pn §0)* (— 30+ 3 m)
+ pA(2p+ &) (60 — 27m) — fopd
+ (2p+ £0)2(— 15+ 2lm)
+p(2p+ go) (—198 +108m — 23Em?) + p2(— 6o + S4m)
+ (2@ + &) (— 66 +54m — 3Em?) 4+ (132 — 108 m + 33 m?)
+ 33 — 36m + 3Em?— 23 mt]
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AL [ p(Gp — £0)*+ 22202 (G — £0)*+ 1682 (412 — o)
=3 (hp— &)+ p(4p — £0)* (60 — 27 m)
+ (4 — go) (— 240 +108m) + 3363
+ (dp— &) (— 15 + 3 m)
A (4 — go) (— 396 + 216m — 33m?) + p2(— 240 + 216m)
+ (4pr—g0)(66 —34m—+ 22 m?) + p(— 264 + 216 m — 66 m?)
+ 33 —36m + 22m?— 23 mt)
H AL [— (B —80) — 1P p2 (6 — g0)* — 21 2 (B — g0)
— 26— g0)°+ (6 — £0)* (30 — Fm)
+ (6 — go) (— 60+ 27m) + fap?
+ (6 — £0)* (15 — 4 m)
+ (6 — go) (198 —108m + 32 m?) + p2 (60 — 54m)
4+ (6 — g4) (66 — B54m +33m?) 4+ pu(—132 + 108 m — 33m?)
— 33 +36m — 3Em24 2Eimt]
+mE AP [ gt — 201 P gl 16207 gy — f7h pt
— g+ pgs(6o—aym)
+ p2go(— 756 + 270m) + p? (324 — 108 m)
+ g3 (15— 3m)
+ 1 go(— 396 + 216m — 33m?) + 2 (1308 — 756 m + ggm?)
+ £0(198 — 162m + 2 m?) ++ p(— 264 + 216 m — 66 m?)
— 33 4 36m— 3Fm?*+ 2imt]
+ mAAP AR [1350p2 (2 — go)2 + 523apt
+ p(2p — g0)% (120 — 34 m)+ p3 (216 + 432m)
+ (21— 80)*(— 60+ 54m) + 2 (— 4368 + 2808 m — 264 m?)
+ p(—528 + 432m —132 m?) + 132 — 144 m + 66 m* — F2mt]
+ om0 M [ R (hp—g0)* 201 p? (hp—g0)* —162p° (hp— g0) + 474
+ 58— g0)’ + (4 — 80)* (— 60 +-27m)
+ pE(Ap— £0) (796 — 270m) + p3(— 324 + 108 m)
+ (A — &) (— 15 + 3 m)
+ (4P — 80) (396 — 216 m 4 33 m?)

—+ p2(— 1308 + 756 m — ggm?)
+ (bp—go)(—198+162m —22 m?) + (264 — 216 m + 66 m?)
+33 —36m + 32im?— 2 3mt]

e mt ()00, [— 786 (21 — g0)? — 3480
+p(2p— g9)*(—120 + 54 m) + p3(-- 4296 + 1296 m )
+(2p—g)* (60— 54m )+ p2(2304 —1d12m +132m?)
+ (528 —432m +132m?) — 132 + 144 m — 66 m?* -+ FEm*]









